1 JULY 2019 - 30 JUNE 2020



SHARES - 4094269 - HIN 43262483

DR EGANATH KRISHNAPPA + MRS CHARMAINE KRISHNAPPA <KRISHNAPPA SUPER FUND A/C>

Total Buys and Sells	2019 - 2020 Financial Year
Total Buys (inc. Brokerage + GST)	\$126,262.14
Total Sells (inc. Brokerage + GST)	\$202,728.61

AVH - AVITA MEDICAL LTD FPO (ORDINARY FULLY PAID)												
Date	Туре	Quantity	Unit Price	Trade Value	Brokerage+GST	GST	CNote	Total Value				
16-Mar-2020) Buy	10,000	\$.3925	\$3,925.00	\$29.95	\$2.72	96672466	\$3,954.95				
25-Feb-2020) Buy	14,285	\$.6850	\$9,785.23	\$29.95	\$2.72	95647876	\$9,815.18				
				Sub Total	\$59.90	\$5.44		\$13,770.13				

BHP - BHP GROUP LIMITED FPO (ORDINARY FULLY PAID)											
Date	Туре	Quantity	Unit Price	Trade Value	Brokerage+GST	GST	CNote	Total Value			
02-Jul-2019	Sell	-1,000	\$42.0500	-\$42,050.00	\$130.35	\$11.85	90958073	-\$41,919.65			
				Sub Total	\$130.35	\$11.85		-\$41,919.65			

CSL - CSL	CSL - CSL LIMITED FPO (ORDINARY FULLY PAID)												
Date	Туре	Quantity	Unit Price	Trade Value	Brokerage+GST	GST	CNote	Total Value					
23-Mar-202) Buy	30	\$251.2500	\$7,537.50	\$29.95	\$2.72	97051275	\$7,567.45					
23-Mar-202) Buy	30	\$251.2500	\$7,537.50	\$29.95	\$2.72	97050914	\$7,567.45					
				Sub Total	\$59.90	\$5.44		\$15,134.90					

CTD - COR	CTD - CORP TRAVEL LIMITED FPO (ORDINARY FULLY PAID)													
Date	Type	Quantity	Unit Price	Trade Value	Brokerage+GST	GST	CNote	Total Value						
09-Mar-202	0 Buy	1,000	\$9.5000	\$9,500.00	\$29.95	\$2.72	96245384	\$9,529.95						
30-Aug-201	9 Buy	500	\$17.8000	\$8,900.00	\$29.95	\$2.72	92243762	\$8,929.95						
29-Aug-201	9 Buy	500	\$18.5000	\$9,250.00	\$29.95	\$2.72	92200465	\$9,279.95						
				Sub Total	\$89.85	\$8.16		\$27,739.85						

HPI - HO	HPI - HOTEL PROPERTY STAPLED (FULLY PAID ORDINARY/UNITS STAPLED SECURITIES)												
Date	Туре	Quantity	Unit Price	Trade Value	Brokerage+GST	GST	CNote	Total Value					
16-Mar-20)20 Buy	4,000	\$2.5000	\$10,000.00	\$31.00	\$2.82	96677571	\$10,031.00					
				Sub Total	\$31.00	\$2.82		\$10,031.00					

MPL - MEDIBANK PRIVATE LTD FPO (ORDINARY FULLY PAID)												
Date	Туре	Quantity	Unit Price	Trade Value	Brokerage+GST	GST	CNote	Total Value				
17-Mar-2020) Sell	-8,371	\$2.9000	-\$24,275.90	\$75.25	\$6.84	96783318	-\$24,200.65				
05-Jul-2019	Sell	-7,000	\$3.6550	-\$25,585.00	\$79.31	\$7.21	91027278	-\$25,505.69				

1 JULY 2019 - 30 JUNE 2020



				Sub Total	\$154.56	\$14.05		-\$49,706.34
MQG - MAC	QUARI	E GROUP LTD FPO	(ORDINARY	FULLY PAID)				
Date	Туре	Quantity	Unit Price	Trade Value	Brokerage+GST	GST	CNote	Total Value
23-Apr-2020	Buy	100	\$96.5000	\$9,650.00	\$29.95	\$2.72	98719720	\$9,679.95
09-Mar-2020) Buy	100	\$120.0000	\$12,000.00	\$37.20	\$3.38	96166482	\$12,037.20
				Sub Total	\$67.15	\$6.10		\$21,717.15
NAB - NATIO	ONAL A	AUST. BANK FPO (ORDINARY F	FULLY PAID)				
Date	Туре	Quantity	Unit Price	Trade Value	Brokerage+GST	GST	CNote	Total Value
13-Sep-2019	9 Sell	-1,084	\$29.0800	-\$31,522.72	\$97.71	\$8.88	92520530	-\$31,425.01
				Sub Total	\$97.71	\$8.88		-\$31,425.01
NDQ - BETA	ASHARI	ESNASDAQ100 ETI	UNITS (EX	CHANGE TRADE	D FUND UNITS F	ULLY PAID)		
Date	Туре	Quantity	Unit Price	Trade Value	Brokerage+GST	GST	CNote	Total Value
15-Jun-2020	Buy	450	\$23.5500	\$10,597.50	\$32.85	\$2.99	101545948	\$10,630.35
04-Jun-2020	Buy	420	\$23.8000	\$9,996.00	\$29.95	\$2.72	100846687	\$10,025.95
06-May-2020) Buy	434	\$23.6200	\$10,251.08	\$31.78	\$2.89	99308156	\$10,282.86
				Sub Total	\$94.58	\$8.60		\$30,939.16
PTM - PLAT	INUM A	ASSET FPO (ORDIN	ARY FULLY	PAID)				
Date	Туре	Quantity	Unit Price	Trade Value	Brokerage+GST	GST	CNote	Total Value
03-Jul-2019	Sell	-3,750	\$5.0000	-\$18,750.00	\$58.12	\$5.28	90986399	-\$18,691.88
				Sub Total	\$58.12	\$5.28		-\$18,691.88
SHL - SONIC	C HEAL	THCARE FPO (OR	DINARY FUL	LY PAID)				
Date	Туре	Quantity	Unit Price	Trade Value	Brokerage+GST	GST	CNote	Total Value
02-Jul-2019	Sell	-1,000	\$27.2066	-\$27,206.63	\$84.34	\$7.67	90958265	-\$27,122.29
				Sub Total	\$84.34	\$7.67		-\$27,122.29
TLS - TELS	TRA CC	PRPORATION. FPO	(ORDINARY	FULLY PAID)				
Date	Туре	Quantity	Unit Price	Trade Value	Brokerage+GST	GST	CNote	Total Value
15-May-2020) Sell	-4,264	\$3.1500	-\$13,431.60	\$41.64	\$3.79	99727991	-\$13,389.96
				Sub Total	\$41.64	\$3.79		-\$13,389.96
TNE - TECH	INOLOG	GY ONE FPO (ORDI	NARY FULL	Y PAID)				
Date	Туре	Quantity	Unit Price	Trade Value	Brokerage+GST	GST	CNote	Total Value
17-Sep-2019	9 Buy	861	\$6.9000	\$5,940.90	\$0.00	\$0.00	92580970	\$5,940.90
16-Sep-2019	9 Buy	139	\$6.9000	\$959.10	\$29.95	\$2.72	92577394	\$989.05
				Sub Total	\$29.95	\$2.72		\$6,929.95

1 JULY 2019 - 30 JUNE 2020



VOC - VOCUS GROUP LTD FPO (ORDINARY FULLY PAID)												
Date	Туре	Quantity	Unit Price	Trade Value	Brokerage+GST	GST	CNote	Total Value				
04-Jun-2020	Sell	-3,606	\$3.2000	-\$11,539.20	\$35.77	\$3.25	100783984	-\$11,503.43				
30-Apr-2020	Sell	-3,000	\$3.0000	-\$9,000.00	\$29.95	\$2.72	98984050	-\$8,970.05				
				Sub Total	\$65.72	\$5.97		-\$20,473.48				

1 JULY 2019 - 30 JUNE 2020



The transaction summary is only able to display information available to us. Transactions regarding corporate actions or stock transfers are not included and can be found on your statements as issued by the company or the share registry. Transactions for Issuer Sponsored holdings placed outside of this account are not included in this summary. Links to some of the key share registries can be found below:

Computershare (http://www.computershare.com/au/Pages/default.aspx) Link Market Services (https://investorcentre.linkmarketservices.com.au/Login.aspx/Login) Security Transfer Registrars (https://www.securitytransfer.com.au/) Advanced Share Registry Services (http://www.advancedshare.com.au/Home.aspx)

This statement is issued by Commonwealth Securities Limited ABN 60 067 254 399 AFSL 238814 ("CommSec"), a participant of the ASX Group and Chi-X Australia. CommSec is a wholly owned but non-guaranteed subsidiary of Commonwealth Bank of Australia Group ("CBA"). Information contained in this statement is believed to be accurate at the time the statement is generated. CBA and its subsidiaries do not accept any liability for any errors or omissions contained in this statement, or any responsibility for any action taken in reliance on this statement. This statement is a summary document only and it is not intended to replace any document which contains information that may be required for traxation purposes. You should therefore retain your CHESS statements, dividend statements, confirmation contract notes and bank account statements for your records in this regard. If there are any errors in this statement, please contact us on 13 15 19. The total prokerage outlined does not include any rebates you may have received over the financial year. Please refer to your transaction statement records for any rebates you may have received for the report period. This report only includes dividends paid for holdings held with have switched products during the financial year. CommSec is not a registered tax practitioner and the information provided in this report. This report may not include information on some accounts if you have switched products during the financial year. CommSec is not a registered tax practitioner and the information provided in this report does not constitute tax advice. The above information whilst based upon your holdings only takes into account those of your circumstances of which we are aware. It is recommended that you provide the report to your tax adviser or accountant in order that your particular circumstances can be properly addressed.

Address Commonwealth Securities Locked Bag 22, Australia Square NSW 1215 | Enquiries 13 15 19 | www.commsec.com.au

1 JULY 2019 - 30 JUNE 2020



GLOSSARY

Ex-dividend date

Other fees

Units The number of registered securities that you own

Unit Price The Portfolio Valuation 'Unit Price' is calculated using a 'Reference' Price provided by the ASX which takes into account an adjustment to determine value at Close of

Market if the Security does not trade in the Closing Single Price Auction on the Valuation Date.

Brokerage The fee or charge that is paid by you when transacting a buy or sell.

Holder Identification Number (HIN) When you are CHESS sponsored with a Broker you will be issued a unique number, called a HIN. Multiple holdings can be registered under the single HIN. A HIN starts

with the letter X and usually followed by 10 numbers, e.g. X0001234567.

Dividend A dividend is a payment made to shareholders from the company. This payment is a portion of the company's profits. ASX listed companies typically pay dividends twice a year, usually as an 'interim' dividend and a 'final dividend'. From time to time, a company may also pay a 'special' dividend.

The ex-dividend date occurs two business days before the company's Record Date. To be entitled to a dividend a shareholder must have purchased the shares before

the ex-dividend date. If you purchase shares on or after that date, the previous owner of the shares (and not you) is entitled to the dividend.

Interim dividend A dividend paid during a year representing a return based on the previous six months' financial performance and the outlook for the future.

Final dividend A dividend paid during a year representing a return based on the previous twelve months' financial performance.

Special dividend A dividend paid by the company outside typical recurring (interim and final) dividend cycle.

Record date The record date is the date the share registries use in determining who is entitled to a dividend or entitlement associated with a security. Those who held the security in

the company and were on the register on the record date are eligible for the entitlement.

Payment date The date on which a declared dividend is scheduled to be paid.

Unfranked dividend Dividends which do not carry a franking credit.

Franked dividends are paid to security holders out of profits on which the company has already paid tax.

Franking /Imputation Credit A franking credit is your share of tax paid by a company on the profits from which your dividend are paid. They are also known as Imputation Credits.

Total subscription Total subscription can include, but are not limited to: CommSecIRESS fees, Morningstar research subscription fees and CommSec share trade alerts.

Other fees can include, but are not limited to: Off market transfer fees, conditional trading fees, rejection fees, early and late settlement fees, fail fees, SRN query,

rebooking fees, cheque payment fee or cheque dishonour fees and the printing and posting of contract notes.

Corporate action (CA) Any action initiated by the company or corporation, for the purpose of giving an entitlement to shareholders.